
      

 Razonamiento: 

 Completa la matriz. 
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   Completa la segunda pareja con la figura que corresponda. 
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   Completa la segunda pareja con la figura que corresponda. 
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   Completa la segunda pareja con la figura que corresponda. 
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   Completa la tercera pareja con la figura que corresponda. 
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                           SOLUCIONES 

 

A – 2                                K - 4 

B – 1                                L - 3 

C – 4                                M - 3 

D – 4                                N - 4 

E – 2                                Ñ - 3 

F – 4                                O - 2 

      G – 2                                 

      H – 3                                

      I – 1                                 

      J- 3                                 

 


